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Draw all 9 lattice plan'cBEﬁd determine the Miller indexes in a simple cubic
Bravais lattice.
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(Where is the origin of the 3 lattice vectors in the cubes?)




Shoecla! el ‘w wciprecal lallten = }’)’M\MMuL

V/Uk\wu qut
L4k uutt edle

A= =3
5 = o il

: f 5. , —
PV wgon-setiatt (Bublonro o

(_\m\_—\/—’——\—
O{ifl—ﬂo&r lothe (\-QC/\—Jr(I/G ced au[LéQ

3 Sc —> sC

Fce Lige e — RICC
ce  —> Fec

Juke L= (kO
Sebek  Hua cloies) oue |
| Bube 1=y = e b0+ (4
o
A shova = {2 2w \C Yt
& (*513 +o (L)t

%

\ A2 \: 27T {(%’—{ )Z-+ (E_f +(l_)l

Az ol oy
/),ec,{';mgcq) lallr ce o tle Fou e M;{;lm pj
’é(«d G(jwt (dﬂ»\fq

BTN ;:vw&a woree — s
e ULS;)EJ =3Po(wk bathice + oasis



.C_*.f'\i‘:':ow‘f ow a Ccowr

O
LU\V&Q Coud . @
o

ZW@/GW u;m MQJVUOCAS

A AR E M. pones

el Ld of EH X - R i Wil comr use wmup
b HXW&D({) : /)\,oaiamjmﬁﬁ?w

A e LD, 44&%?\40‘1 Lawe - M+Ltoo{ ouewbdhioy of k oy
Lixed otteutatioy  —Fify.
J;,F.Fao,fbl U wan®)  fou @ac 5

7 AN oud metake C/uj;,)-.d il 'OUMLHL& kot
Fox O ‘/Kjg"“ﬁ”
X
2 .Yo{:\;ij:/v%(w'lf%ffjﬁué\ Ddzae - gch{’fﬂd\f ﬂqﬂi@_ Pﬂ“’ﬂ“"d@\‘i



